~LQANEW COIRpa

MIG TORCH ERGON BZ 15 SPRING PINS

A.TEE.

tel 055 891826

MIG

BZ 15

17 18 19 20

13a
12 14
— T
) 1
w PYYVTTTTn
11a (optional)
15
—D
WIRE CONDUIT FOR ALUMINIUM @

16

TENSION|  POWERAT60% | 00 DESCRIPTION €/¢ea
CLASS CO2 - MIX
S0 A 150 A 02.ER.15.3 TORCIA COMPLETA BZ 15 mt. 3 - COMPLETE MIG TORCH BZ 15 mt. 3 86,65
L 180 A-150 A AR |02ER15.4 TORCIA COMPLETA BZ 15 mt. 4 - COMPLETE MIG TORCH BZ 15 mt. 4 92,56
180 A- 150 A 02.ER.15.5 TORCIA COMPLETA BZ 15 mt. 5 - COMPLETE MIG TORCH BZ 15 mt. 5 105,75
M6x25 STD Part No \ DESCRIPTION [PACK[ €/¢a | [ m6x25 Part No DESCRIPTION [PACK] € /ea |
; 020115.08 Punta MGX25 8 0,6 - Gontact tip M6X25 8 0.6 | 100 | 0,50 '1“” alluminio 02.01.15.08AL Punta M6x25 @ 0,8 - Contact tip M6x25 60,8 | 100 | 0,56
02.01.15.08 Punta M6X25 @ 0,8 - Contact tip M6X25 0 0,8 | 100 | 0,50 02.01.15.09AL Punta M6x25 80,9 - Contact tip M6x25 @ 0,9 |100 | 0,56
@1 . @ .
02.01.15.09 Punta M6X25 @ 0,9 - Contact tip M6X25@ 0,9 | 100 | 0,50 02.01.15.10AL Punta M6x25 @1,0 - Contact tip M6x25 @ 1,0 | 100 | 0,56
02.01.15.10 Punta M6X25 1,0 - Contact tip M6X25 8 1,0 | 100 | 0,50 FUORI 02.01.15.12AL Punta M6x25 @1,2 - Contact tip M6x25@ 1,2 | 100 | 0,56
02.01.15.12 Punta M6X25 @ 1,2 - Contact tip M6X25 81,2 | 100 | 0,50 PRODUZIONE
\ ITEM [ PartNo | DESCRIPTION [ORIGINAL REF| PACK ][ €/ea |
2 02.02.15ICO Ugello conico @ 12 STD - Adjustable conical nozzle g 12 STD 10 2,20
02.02.15ICL Ugello cilindrico - Adjustable cylindrical nozzle 10 2,39
@_)))) 02.02.15.10 Ugello conico @ 9,5 - Adjustable conical nozzle 9 9,5 10 2,39
02.02.15FP Ugello per puntatura - Adjustable spot nozzle 10 7,95
02.05.15 Diffusore a molla - Tip adaptor gas diffuser 10 3,70
R,
)| |
02.05.15.01 Molla ferma ugello gas - Spring 50 0,51
02.03.15 Boccolina isolante - Insulator nut for conductor tube 10 0,81
02.06.15 Lancia terminale completa - Complete adjustable swan neck 5 9,45
6a 02.06.15FLX Lancia flessibile ad INNESTO - Flexibile swan neck 39,85
7 02.07.15 Rivestimento isolante lancia - Conductor tube insulation 0,98
02.06.15.06 Lancia terminale nuda - Conductor tube without insulation 5,76
02.06.15.01 Dado # 10 x 1 mm - Nut@10x 1 mm 0,83
02.06.15.02 Dado lungo @10 x 1 mm - Hexlong nut @ 10 x 1 mm 2,05
02.10.15 Corpo torcia PVC - PVC torch body 2,17
02.06.15.03 Anellino di centraggio - Bushing 0,84
e = B

NEW COIR S.p.A. is in no way affiliated with BINZEL®. The parts advertised for sale are not genuine BINZEL® parts, but are parts made for and by NEW COIR S.p.A.
Reference to BINZEL® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine BINZEL" parts in place of NEW COIR S.p.A. parts.



Part No DESCRIPTION [ORIGINAL REF| PACK | [ €/¢ea
02.08.ER.16 Impugnatura ergonomica @ 16 mm. - Ergonomica Handle w/o screw 12,85
02.08.ER.01 Vite per impugniatura - Screw for ergonomic handle 0,16
02.08.ER.02 Ghiera - Housing for handle 2,06
02.09.A.BZN Pulsante interruttore nero STD - Black STD trigger 4,89
02.09.A.8Z Pulsante interruttore - Trigger 4,89
02.09.ER Pulsante interruttore lungo - Long trigger 6,65
02.09.ER.3 Pulsante interruttore lungo con micro 3C - Long trigger with switch 3 contacts 23,30
02.144.ER.15 Supporto snodo anteriore ergonomico BZ15 - Joint for ergonomic handle BZ15 3,95
11a 02.144.ER Supporto snodo anteriore con molla - Joint with spring 7,52
02.144.ERH Supporto snodo - Joint 4,39
02.144.M Molla - Spring 2,95
% 13 02.20.15 Cavo coassiale 15 - Coaxial cable 15 per mt. 13,20
ﬁ 02.20.15.3 Cavo assemblato mt.3 - Assembled cable mt.3 41,35
13 02.20.15.4 Cavo assemblato mt.4 - Assembled cable mt.4 49,65
.“ 02.20.15.5 Cavo assemblato mt.5 - Assembled cable mt.5 60,80
Y 01.244M Faston per interruttore - Faston for switch 0,53
A VA.A96/P Faston maschio cilindrico - Faston male 0,67
(«’ 14 VA.B1820 Manicotto serraggio cavi - Sleeve 1,98
m%m 02.06.15.01 Dado @ 10x1 mm. - Nut @ 10x1 mm. 0,83
VA.RC15E Raccordo cavo coassiale - Coax-cable fitting 5,95
02.04.T3 Guaina guidafilo blu @ 0,6 - 1,0 mt.3 - Wire conduit @ 0,6 - 1,0 Blue mt.3 6,30
02.04.74 Guaina guidafilo blu @ 0,6 - 1,0 mt.4 - Wire conduit @ 0,6 - 1,0 Blue mt.4 6,60
02.04.T5 Guaina guidafilo blu 8 0,6 - 1,0 mt.5 - Wire conduit @ 0,6 - 1,0 Blue mt.5 8,45
02.30.08 0-RING - 0-RING 0,30
16 02.04.AL Guaina guidafilo per alluminio mt. 4,5 - Liner for Aluminium mt. 4,5 13,78
02.04.ALT Capocorda - Nut for liner for Aluminium 3,25
= 02.04.AL5 Guaina guidafilo per alluminio mt. 5,5 - Liner for Aluminium mt. 5,5 19,88
FOR OTHER LINERS FOR ALUMINIUM LOOK AT PAGE 81
02.30.01.ERA Gommone posteriore - Cable support spring 3,30
02.30.02.ERA Ghiera di chiusura scatola posteriore - Rear connettor case closing nut 1,90
02.30.04.ERA Coppia guance - Shell 2 pcs. 5,20
02.30.03.ERA Scatola posteriore completa - Complete rear connector case 9,60
02.30.04 Ghiera - Nut 6,45
02.30.05 Corpo torcia posteriore spinette mobili - EURO connector - SPRING PINS 26,00
13.30.08 Corpo torcia posteriore SAF spinette mobili - EURO connector SAF® - SPRING PINS 39,70
02.30.08 0-RING - 0-RING 0,30
VA.A69/P Faston femmina cilindrico - Faston female 0,67
02.30.06 Dado - Liner nut 1,49
13.30.08.1 Spinetta maschio mobile - Spring pin 5,95
OPTIONALS FOR BZ15
02.02.15FCO Ugello a FILETTO conico - Theraded conical nozzle 10 6,19
02.02.15FP Ugello a FILETTO per puntatura - Theraded spot nozzle 10 11,95
02.06.15F Lancia terminale completa a FILETTO - Complete theraded swan neck 25,98
02.06.15FN Lancia terminale nuda a FILETTO - Complete theraded conductor tube 18,26




	PAG 034 - BZ15.pdf (p.31)
	PAG 035 - BZ 15 retro.pdf (p.32)

